0o ooo:
1.00000:1pcs /00, 50/0000, 600pcs / carton.
2.MOQ : 10000 PC.

3.Port: 000/ 00, OO

4. 000 000 : O
5. 00 00 00 < 00 000 3 0, 00 000 00 25 0
00 000 000 0000 0o 0ot COooo doooo
00 (00, SBPP, SMS, Spunlace, 0, 00 0000
o0 00 00
00 25-50.GSM.
o0: 000, 000 0. 000 00, 00 000 0. 00, 0000 0000 0000 000
00 00 00 00 00 00 (000 000 000)
00 000 1pcs /00, 5 0/ 00 00, 600pcs / carton
o0: [0, 00, 00, 000 000, 00 00, 00, 00, 00 00, 000 00 0
a0 oo 5.0,000 P.CS.O0O

0000 =



B orient Honest
DISPOSABLE BRA

Soft, Breathable fabric
Elastic Shoulder Straps
No Harsh Chemicals Odors
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EEm orient Honest
METIAL IHTERNATIOMAL




M orient Honest

ERSATIOMAL




]
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BEm orient Honest

ICAL INTERSATIOMAL
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F] orient Honest

HTER®ATIOMAL

0ooo oo

1. 000 0000 00 00 00ooo? 0oo 0ot 0o booaoo?

0, 000 00 00 00, 000 0O0 2003 00 0o0oooo.
2. [I00 00 0bO00 bocoo?

00001800~ 2 00 000 000 0O0Ood.
3. 00 0 00 0000 booo?

000 OO0 380-400 {00, 10 00 00 QC 0 0000 00 000 0000 0O 00 0000 3-8 0 000 00 10 00 00 00 000 00
aog.

4. [0 000 00 000 00 0 0boooo booo?



00, 000 90 %, 000 10 %.
5. 00 00 000 0oooo?

{0, 000, 0O0oon. dooo. doo. ad. oo, 0o 0ood. oo, o0o. od. 0o, oo, 0. 0o 0.
6. (00 000 000 0000 000 000 0o 000 00 0 0 0ooo?

(0 000 0oo 0o 0o 0oo 0do Co boo. 0. 0o, 0o bod. oo 0o, oo O, 0o 0o, 00 0o, 0 00, 000, 0o, 0o, 0o
0 000oa.

7. [0 00 000 00 000 00 0o 000 0ocoo?

2 PP I{], SMS, PP/ PE000. 2 00 00 00000 2 DO O0DOCO OO 5000000 5 00 00 00 0 00- 10 00 000
aoo oo.

8. [I0 00 000 0O 000 0oooo?

00 00000 : 1000,000 [0/ 0. coverall, 00 000, 000 Jas, 000000 : 10,000 0/ 0. 00 : 200,000 0/ 0. [
1*40HQM 7-10 000 OO0 O O OOOC.

9. (00 000 1s0, EN [0 CE 0000 00 00 0o 0000 0ot boco?
[0, CE 0000, 1S013485, REACH, SGS [J Nelson[] 0000
10. 00 0000 00 00 000 0o 0 booo? 000 0o 0oo 0o 0 0oog?
0, 000 000 3-7 0 000 000 00 0 0 0o0.
11. 000 000 000 00000 00 0 0 0ooo?
0, 00 000 00000 00 0 000 00 0000 0000 0o 0 0 oood.
12. I 0000 Ooooo?
03-50.
13. [I000 00 000 0oooo?
1000030 % T/T000 70 %0 00000 L/ €0 00000- 000 00 00 000 0 00 0 O 000
14. 10 000 MOQQ 00000?
00 000 / 00/ 000 00 MOQ = 50,000 [0 00000 0 0 00 MOQ = 5000 [
15. I0 00 000 000 COoo 6 0ooo?

00 000 00 000 00 0o 000 000 00oo. oo 0o 0o 040 0o booo boo 0oo Ooooo 0oo booo 0o 0doo. 0 0o
0 000 00000 0oo 0 0 oooa.




